2p'IaYISI@OJUl - P IBYISI MMM
ccevcl evvL 6v+Xed - 0¢Cl EVVL 67+ IBL

Auewisn
|elyoeplepn 82 LZL - | 8geaS-1ayosig-snepy|
D)'0Q B HQWH 8idamiayosy

JOYOSl} JOYoSsiy

~
o]
w
©
w
o
o
~
N
o
©
o
=
Q ‘
N
o
- (3] S
=
Jsury * T #
—
Xl
SAOM) 0}
9 By
|
: P
:
*
22 ‘ww oz 918 ojuswidwod wn wod oedexiy ap osnjesed wn/ epeasol alsey ewn sod opimnsqns 1as apod waquiel 0peasos ourd a1sg |,
; “pnuBuo| 8p ww gz e1sey 8p ugiaely ap ojjiuiol un / epeasol ejjieA eun Jod Jeiquies apand s ugiquiel opeaso Jopesed 81s3
E ‘wur 0z A4z|p op myinays nigenoyasdn/ 91 naowiez ez [ JiuswiA szou es yjjox fronnez olus)
=
“wiw ppz AY[ap op gnois jaeroyAadn / 9A1 NOAGLIARZ Z 1UGWIAN BYEI WS 8S |0y ANONIABZ 01UB] |,
“ww oz op 19506nyp 0 BakInoow dgnis / Auemoruimbeu 181d eu AuoiusiwAm ge1soz zal szow AuemoluimBeu ysidzi us|
“wur pog e outy ezzaybunj uoa 01BBeSSI) 1p 811A / e1L118|1) B1IRQ BJI[E,UN UOD BIINIISOS B19SSA 8YIUE ond e1eNa|lj eISE eISANY |,
] “nanBuoj ap ww oz e,nbsnl uonexiy ap sin aun / agia|iy 86 sun Jed goejdwal ang wswajeby 1nad g1aj1y 1n0q 89 |,
‘ww oz Y:6us| e 01 dn maios Buixiy / pos papeaiy) e Aq paaejdal aq Aew maiosias 8y
‘uapiam 1yasnelabsne abue] ww Qg siq sqneiyassbunbnsajag auia / abueisapuimag auia uabiab yane jiep 1jnsapuimag Jasalg
Burupsjlonsbuiualie a
Iups iuetied 1d § 0Lz~ 2 8"y 00! 8l
aleluow ap uolooNASuUl §3
- ®,
Q!Ue/\!;nOd eu po/\eN )IS 1174 0L1-129 wwrgl+8+y 00¢ 0¢ X 002¥0Z HSH
0¢ LN u9l 9lN 0L 91 Xeiayy
1oe|e1sul X pOAEN ZJ L 062 - 29 2"y 08 8l
nzeiluow eloynJisu| d
L 06229 8"y 08 8l
oibBeiuow Ip 1uoIZNAS| ||
abeluow ap 92110\ Y4 8 oyl - 29 oy 00! vl
suoll1onJlsul uollejjeisu .
1 } ' 1 I } I N3 9 0Ll-29 ww gl + 8"y 0€l 02 MOELX0Z H SH
Bunyisjuesbeluo| 3@ 0 2 o9l N I 21 xepyiay
9 091 - 29 oy 08 vl
5 0L1-29 8"y 0L vl
[N
[ww] [ww] [ww] [ww] [ww]
o G I B |
I/\I I J— I 0 J- al“fﬂ:ﬂfefnuﬁﬁ'ﬁ; jzfdgt\éi‘fuﬁﬁ:ﬂm;d/”/ . l 051+ R e e e L
0HOSSE00Y / WALIYIENY / WAWIeny / janequy | pepypod juAaloy / efae|oz + LIUBIMIOY BZ0{p0 / OIUBLLIBJOSL| + 8Seq IP BeUale[ / UONE|OSI | 3D + 8Seq ap NeUgIe|y / UoNe|Nsul + youy / Bunwweq +

wabeiruow ap sopeq
/ oleruow ap soleq / alepn auzeiuo|y / afepn juzeiuoyly / @mozeruow aue(
/ oibBejuow I1p neq / ebeiuow ap seguuo(g / erep uolie|jeisu| / uayepabeiuolp

TherMax 12

TherMax 16 4 6

DE EN FR PL

CZz

SK PT

1 Injektions-Ankerhtlse FIS H 20 x 130
K (fur TherMax 12) / FISH 20 x 200 K

Injection anchor sleeve FISH 20 x 130
K (for TherMax 12) / FISH 20 x 200 K

Tamis d'injection FISH 20 x 130 K
(pour TherMax 12) / FISH 20 x 200 K

Tassello di ancoraggio ad iniezione FIS H
20 x 130 K (per TherMax 12) / FISH 20 x

Iniekcyjna tulejka siatkowa FIS H 20 x
130 K (do TherMax 12) / FIS H 20 x

1 Kotevni sitko pro injektazni systém FIS
H 20 x 130 K (pro TherMax 12) / FISH

1

InjektaZne kotviace sitko FIS H 20 x
130 K (pre TherMax 12) / FISH 20 x

Tamiz FISH 20 x 130 K (para TherMax 12)
/ FISH 20 x 200 K (para TherMax 16)

1

Camisa de injecgdo FISH 20 x 130 K (para
TherMax 12) / FISH 20 x 200 K (para

(fur TherMax 16) (for TherMax 16) (pour TherMax 16) 200 K (per TherMax 16) 200 K (do TherMax 16) 20 x 200 K (pro TherMax 16) 200 K (pre TherMax 16) 2 Varilla cincada / inoxidable acero TherMax 16)
2 Gewindestange verzinkt/nicht rostender 2 Threaded rod zinc-plated/stainless steel 2 Tige filetée zinguée/acier inoxydable 2 Asta filettata zincata/acciaio inossidabile 2 Pret nagwintowany ocynkowany/stali 2 Zévitova ty¢ pozinkovana/nerezové oceli 2 Zévitova ty¢ pozinkovana/ M12 x 207 mm, M16x 337 mm 2 Haste roscada em ago galvanizado/aco
Stahl M12 x 207 mm, M16 x 337 mm M12 x 207 mm, M16 x 337 mm M12 x 207 mm, M16 x 337 mm M12 x 207 mm, M16 x 337 mm nierdzew nej M12 x 207 mm, M12 x 207 mm, M16 x 337 mm nehrdzavejlca ocel M12 x 207 mm, 3 Cono anti-frio reforzado con fibra de vidrio. inoxidavel M12 x 207 mm, M16 x 37 mm
3 Anti-Kalte-Konus aus glasfaserver- 3 Anti-cold cone reinforced with 3 Cone anti-froid en polyamide 3 Cono antifreddo in poliammide M16x337 mm 3 KuZzel k prerusenf tepelného mostu z M16 x 337 mm 4 Tornillos de presion de acero inoxidable 3 Cone a prova de passagem de frio em
starktem Polyamid fiberglass renforcé de fibres de verre rinforzata con fibre di vetro 3 Termoizolacyjny stozek z poliamidu polyesterového skelného laminatu 3 Protichladovy kuZel z polyamidu zosilne con cabeza hexagonal SW 6 (para méas poliamida reforgada com fibra de vidro
4 Gewindestift nicht rostender Stahl mit 4 Setscrew stainless steel with hexagonal 4 Bout fileté en acier inoxydable avec 4 Perno filettato in acciaio inossidabile wzmacnianego widknem szklanym 4 Zavitovy kolik z nerezové oceli s ného sklenymi vidknami opciones de conexion vea certificado 4 Pino roscado em aco inoxidavel com
Innensechskant SW 6 (weitere An- socket SW 6 (for further connection six pans creux ouverture de clé 6 (voir con esagono incassato SW 6 4 Trzpien nagwintowany ze stali vnitinim Sestihranem SW 6 (moZnost 4 Zavitovy kolik nehrdzavejlca ocel técnico) sextavado interior SW 6 (outras possibilida
schlussmoglichkeiten siehe Zulassung) options see technical approval) agrément pour d‘autres possibilités de (per altre opzioni di collegamento,si nierdzewnej z gniazdem szesciokgtnym nahrazeni koliku jinym prvkem - viz s vnutornym Sesthranom, vel'kost kl'ic¢a 5 Arandela 13 x 30 x 2 inox. acero des de ligagdo, ver homologac&o)
5 U-Scheibe 13 x 30 x 2 nicht rosten- 5 Washer 13 x 30 x 2 stainless steel raccordement) veda il certificato di omologazione) SW 6 (dalsze mozliwos$ci podtaczenia sa schvaleni) (d'alsie moZnosti pripojenia pozri schva 6 Tuerca hexagonal M 12 inoxidable acero 5 Anilha U 13 x 30 x 2 em ago inoxidavel
der Stahl 6 Hexagonal nut M 12 stainless steel 5 Rondelle 13 x 30 x 2 en acier 5 Rondellaa U 13 x 30 x 2 in acciaio podane w aprobacie) 5 Podlozka U 13 x 30 x 2 z nerezové lenie) 7 Punta hexagonales SW6 6 Porca sextavada M 12 em ago inoxidavel
6 6-Kant-Mutter M 12 nicht rostender 7 Hexagonal bit SW6 inoxydable inossidabile 5 Podktadka 13 x 30 x 2 ze stali oceli 5 Podlozka U 13 x 30 x 2 nehrdzavejlca 8 Manguera de extension para mezclador 7 Broca sextavada SW 6
Stahl 8 Extension hose for static mixer with 6 Ecrou 6 pans M12 en acier 6 Dado esagonale M 12 in acciaio nierdzewnej 6 Sestihranna matice M 12 z nerezové ocel estatico con TherMax M 16 (sin fig.) 8 Tubo de extens&o para misturador estatico
7 6-Kant-Bit SW 6 TherMax M 16 (without fig.) inoxydable inossidabile 6 Nakretka 6-katna M 12 ze stali oceli 6 6-hranna matica M 12 nehrdzavejica 9 Cuchilla de corte de TherMax 16 (sem Fig.)
8 Verlangerungsschlauch fur Statikmi- Cutting blade 7 Embout 6 pans ouverture de clé 6 7 Inserto esagonale SW 6 nierdzewnej 7 Sestihranny bit SW 6 ocel 10 Mamposteria (sin fig.) 9 Lamina de corte
scher bei TherMax 16 (ohne Abb.) 10 Sealant 80 ml (without fig.) 8 Tuyau de rallonge pour bec mélangeur 8 Flessibile di prolunga per miscelazione 7 Bit 6-katny SW 6 8 ProdluZovaci hadicka pro staticky 7 6-hranny bit, vel'kost kl'tuca 6 10 Klej i uszczelniacz 80 ml (brak ilustracji)
9 Fréasklinge avec TherMax 16 (sans illustration) statico con TherMax 16 (senza Fig.) 8 Przedtuzacz weza do mieszalnika statyc smésovac (bez obr.) 8 PredlZovacia hadicka pre staticky
10 Kleb- und Dichtstoff 80 ml (ohne Abb.) 9 Lame de fraisage 9 Fresa znego z TherMax 16 (brak ilustracji) 9 Frézovaci ¢epel zmieSavac pri systéme TherMax 16 (bez
10 Mastic 80 ml (sans illustration) 10 Mastice 80 ml (senza fig.) 9 Ostrze frezarskie 10 Lepici a tésnici tmel 80 ml (bez obr.) obr.)
10 Klej i uszczelniacz 80 ml (brak ilustracji) 9 Frézovacia Cepel
10  Lepiaca a tesniaca hmota 80 ml (bez

Erforderliches Zubehor (Bsp.Abb.) / Required accessories (ex.) / Accessoires nécessaires (exemples d'il-
lustration) / Accessori necessari (figure di es.) / Wymagane akcesoria (ilustracje przyktadowe) / Potfebné

obr.)

prislusenstvi (pfikl.obr.) / Potrebné prislusenstvo (prikl. obr.) / Accesorios necesarios (p. ej. fig.) / Acessorios Inhalt Stik] / Content [pieces] / Contenu [pice] / Contenuto [pezzo] / Zawartoss: (sztuki) /Obsah [Kus] / Obsah [Kus] / Contenido [piezas] / Contetido [pegas]
necessarios (exemplo de Fig.) Typ
1 1 2 3 4 5 6 7 8 S 10
ﬂ"\§ gvz R
™~
7o 51291 - 20 - 20 20 20 20 20 5 - 5 - 5
focher = Thermax
12110 M12| 51290 - 2 - 2 2 2 2 2 1 - 1 1 1
- 51537 10 - 10 10 10 10 10 3 - 3 - 3
=9
. 51293 - - 20 20 20 20 20 20 5 5 5 - 5
Thermax
16/170M12| 51292 - - 2 2 2 2 2 2 1 1 1 1 1
fischer Injektionsmortel”/ Auspressgerat / Dispenser  Reinigungsburste / Ausblaser / Blow out  fischer Kleb-/ Dichtstoff™ / ) 515643 ) 10 10 10 10 10 10 3 3 3 ) 3

pump / Soufflette /
Pompa di soffiaggio /
Pompka / Vyfukovaci
pumpa / Vyfukovac

/ Bomba de aire /
Valvula de alivio

Sealing and adhesive™ /

Mastic colle et etanche™ /
Sigillante e adesivo™ / Klej" /
uszczelniacz™ / Lepici a té&snici
tmel” / Lepiaca a tesniaca hmo-
ta” / Mamposteria” / Colagem
e vedacao adesiva”

Cleaning brush / Ecouvillon
de nettoyage / Spazzola di
pulizia / Szczotka do
czyszczenia / Cistici
kartagek /Cistiaca kefa

/ Escobilla limpiadora /
Escova de limpeza

/ Pistolet / Pistola applica-
trice / Pistolet iniekcyjny
/ Vytlacovaci pistole /
Vytla¢aci pristroj /
Accesorios necesarios /
Aparelho doseador

Injection mortar*/ Résine de
scellement”/ Resina a iniezio-
ne*/ Zaprawa iniekcyjna* /
Injektédzni malta™ / Injektdzna
malta* / Anclaje quimica® /
Argamassa de injecao”

*Beton / concrete / béton / calcestruzzo / Beton / beton / Beton / Hormigdn / Beton / Betdo: FIS V + FIS VS LOW SPEED ETA-02/0024, FIS V Plus ETA-20/0603, FIS EM Plus ETA-17,/0979,
FIS GREEN ETA-14/0408,FIS SB ETA-12/0258, FIS AB ETA-7/0350

*Mauerwerk / masonry / magonnerie / muratura / Mury / zdivo / Murivo / Albafileria / Alvenaria: FIS V + FIS VS LOW SPEED ETA-10,/0383, FIS V Plus ETA-20/0729, FIS GREEN ETA-14/0471,
FIS AB ETA-17/0352

**Inklusive Kleb- und Dichtstoff 80 ml bei Artikel 51290 und 51292 / Including adhesive and sealant 80 ml for articles 51290 and 51292. / Compris mastic colle et étanche 80 ml pour les arti-
cles 51290 et 51292 / Compreso adesivo e sigillante 80 ml per gli articoli 51290 e 51292 / W tym klej i uszczelniacz 80 ml dla artykutow 51290151292 / Vcetné lepici a tésnici hmoty 80 ml
pro vyrobky 51290 a 51292,/ Vratane lepidla a tesniacej hmoty 80 ml pre vyrobky 51290 a 51292 / Incluye adhesivo y sellador de 80 ml para los articulos 51290y 51292 / Incluindo adesivo
e selante 80 ml para os artigos 51290 e 51292



DE

1. Bohren des Verankerungsloches
* Anzeichnen der Bohrldcher. Bohrdurchmesser
und Bohrtiefe: siehe Tabelle ,Montagedaten”.

« Bohren rechtwinklig zur Verankerungsober-
flache.

* Bohrverfahren:
Beton / Vollstein / Porenbeton: Hammerbohren
Lochstein: Drehbohren

2. Abldngen des Thermax
« Die Gewindestange 2 muss vollstandig in den
Anti-Kalte-Konus 3 eingedreht sein.

« Lange K entsprechend Tabelle unten ermitteln
und die Gewindestange ablangen.

EN

1. Drilling of fixing hole
 Marking of drill holes. Drill hole diameter and
drill hole depth see table "installation data”.
« Drill perpendicular to the anchoring surface.
* Drilling method:
Concrete / solid brick / aerated concrete:
hammer drilling
Perforated brick: Rotary drilling

2. Cutting of Thermax
« The threaded rod 2 needs to be completely
twrmed into the anti-cold cone 3.

« Determine length K (see tables below) and
then cut the threaded rod to size.

FR

1. Percage du trou d'ancrage

« \oir tableau « Données de montage » pour e
diamétre et la profondeur de percage.

* Percer perpendiculairement a la surface
d'ancrage.

* Procédé de forage :

Béton / Brique pleine / béton cellulaire:
Perforation au marteau perforateur

Brique creuse : Forage rotatif

2. Coupe de la longueur du Thermax
« Latige filetée 2 doit étre totalement vissée
dans le cone anti-froid 3.

* Déterminer la longueur K selon le tableau
ci-dessous et couper la tige filetée.

6=

T

Thermax 12 K[mm]=¢+70

K [mm]=¢+80

K[mm]=e+130

K[mm]=e¢+ 100

Thermax 16 K[mm]=¢+80

K [mm]=¢+80

K[mm]=e+200

K[mm]=¢+100

3. Auffrisen der Warmedammung

« Auffrasen mit dem kompletten Thermax unter
Verwendung des 6-Kant-Bit bzw. der 6-Kant-
Nuss SW 19. Die Gewindestange dient als
Fiihrung beim Frasvorgang.

« Frastiefe: Oberkante des Anti-Kalte-Konus ist
biindig mit Putzoberflache.

A Auffrasen mit Bohrmaschinen-

Einstellung ,Schlag- oder Hammerbohren”.
Reinigung der Gewindestange nach dem Frasen
durch Abbirsten.
Jeder Anti-Kalte-Konus darf nur einmal
eingefrast werden.

 Tipp: Bei einem widerstandsfahigen Putz
empfiehlt sich zum Auffrasen die Benutzung
der Thermax Frasklinge 9. Dazu Frasklinge,
wie abgebildet, in eine der drei maglichen
Vertiefungen des Anti-Kalte-Konus stecken.
Nach Verwendung demontieren.

4. Bohrlochreinigung
Bohrloch gemaR des Kartuschenetiketts bzw.
der ETA des fischer Injektionsmartels griindlich
reinigen.

5. Setzen der Injektions-Ankerhiilse
 Vollstein / Beton / Porenbeton:
Injektions-Ankerhiilse 1 entfallt.
* Lochstein:
Setzen der Injektions-Ankerhilse mit Hilfe
des abgelangten kompletten Thermax, bis der
Anti-Kalte-Konus biindig mit der Putzoberflache
ist. Danach Thermax herausziehen.

PR

6. Iniekti
Bohrloch bzw. Injektions-Ankerhiilse vom
Bohrlochgrund blasenfrei mit Injektionsmartel
verfiillen und dabei den Statikmischer nach
jedem Hub ein Stiick weiter aus dem Bohrloch

T
L

2
i

her .
Erforderliche Martelmenge siehe Tabelle
Montagedaten".

Bei Gesamtbohrtiefe t, = 250 mm ist der
Statikmischer mit Verlangerungsschlauch zu
verwenden.

A Montageschritte und Verarbeitungs-

zeit gemaR dem Kartuschenetikett bzw. der
ETA des Injektionssystem beachten.

7.Einfiihrung des Thermax innerhalb
der Verarbeitungszeit des Injektions-
mortels

* Leicht drehende Einfiihrung des kompletten
Thermax: Die AuRenkante des Anti-Kal-
te-Konus muss mindestens 1 mm (iber der
Putzoberflache vorstehen.

* Den Injektionsmartel gemaR den Aushérte-
zeiten (siehe Kartuschenetikett) ausharten
lassen.

8. Justierung des Thermax

* Unebenheiten des Untergrundes kannen
durch Herausdrehen des Anti-Kalte-Konus
(AKK) mit maximal 2,5 Umdrehungen (max.
5 mm) ausgeglichen werden. Hierfir ist die
Drehmarkierung A auf der Stimseite des
AKK zu beachten. Fiir das Herausschrauben
des AKK ist ein gekropfter Ringschliissel
(SW 19) zu verwenden.

* Den Gewindestift mit dem 6-Kant-Bit ggf.
max. 5,5 Umdrehungen (entspricht ca.
10 mm) aus dem AKK herausdrehen. Dabei
durch Fixieren mit Hilfe eines gekrapften
Ringschlissels (SW 19) verhindern, dass
sich der AKK mitdrehen kann.

9. Abdichtung der Bewegungsfuge

* Verfilllen der kreisrunden Bewegungsfuge
2wischen Anti-Kalte-Konus und Putz mit
fischer Kleb- und Dichtstoff KD oder DKM.

10. Montage des Anbauteils

* Nach dem Anziehen der Sechskantmutter
[Anzugsmoment T max. 20 Nm) darf sich
das Anbauteil nicht auf dem Untergrund
abstitzen.

* Bei Langlochern in Querlastrichtung (z. B. in
einem Markisen-Befestigungsprofil) miissen
die freien Langlochanteile komplett mit
Injektionsmartel verfllt werden.

o
ey

Beispiel far Einzelbefestigung / Example for single fixing / Exemple de fixation simple
/ Esempio di fissaggio singolo / Przyktad mocowania jednopunktowego / Pfiklad
jednotlivého upevnéni / Priklad jednotlivého upevnenia / Ejemplo de fijacion simple /

Exemplo de fixacdo individual

DE

d = Bohrernenndurchmesser
1 = Bohrlochtiefe (e + h, (+ 10 mm fiir
Lochstein))
| = Lange des Thermax inkl.
AntiKalte-Konus
= effektive Verankerungstiefe

e = Dicke der zu berbriickenden Schicht
(Ddmmung, Gewebe, Putz, Kleber)
Ly = Dicke Altputz und/oder Kleber
s = Pémmdicke (System)
= Uberstand (> 1 mm)
1 = Dicke des Anbauteils

= Montagedrehmoment

EN

3. Milling the insulation

 Mill with the complete Thermax and use the
hexagonal bit or the hexagonal nut SW 19
for this. The threaded rod serves as guidance
during the milling process.

* Milling depth: Cone outer edge is flush with
plaster surface.

3. Fraisage de I'isolation thermique

* Fraisage avec I'ensemble du Thermax en
utilisant I'embout 6 pans et la douille & 6 pans
d'ouverture 19. La tige filetée sert de guide au
cours du processus de fraisage.

* Profondeur de fraisage : Le bord supérieur du
cone anti-froid est affleurant a la surface de
I'isolant.

A Use the setting “percussion or hammer A Fraisage avec le réglage de la machine

drilling” for milling.

Clean the threaded rod after milling by brushing
it off.

Each anti-cold cone may only be used to

mill once.

« Tip: With a resistant plaster (e.g. thick cement
plaster or curtain-type facade), we recommend
1o use the Thermax cutting blade 9. Put the
cutting blade, as shown, in one of the three
recesses of the anti-cold cone and dismantle it
after usage.

4. Drill hole cleaning
Clean drill hole thoroughly according to the
cartridges label or the ETA of the fischer
injection mortar.

5. Setting of the anchor sleeve

* Solid brick / concrete / aerated concrete:
Anchor sleeve 1 not necessary.

« Perforated brick:
Set the anchor sleeve with the help of cutted
Thermax in the drill hole, until the anti-cold
cone is flush with the plaster surface. Then
pull out Thermax.

6. Injection

« Fill the drill hole or anchor sleeve with mortar
from the drill hole base without bubbles and
withdraw the static mixer a bit further with
each stroke.

« For required amount of mortar, see table
“installation data”.

« With overall drilling depth t, = 250 mm, the
static mixer is to be used with an extension
hose.

A Observe the steps and the processing

time according to the cartridge label or the ETA
of the injection system.

7. Insertion of Thermax within the
processing time of the mortar

« Insert Thermax, gently turning until the
outer edge of the anti-cold cone stands out
at least 1 mm from the plaster surface.

* Allow the mortar to harden according to the
hardening times (see cartridge label).

8. Adjustment of Thermax

* |t's possible to compensate for uneven
surfaces by tumning out the anti-cold cone
with a maximum of 2.5 rotations (max.
5 mm). For this, the rotation marking A on
the front side of the anti-cold cone needs to
be observed. Use a cropped ring key SW 19
to screw out the cone.

Where necessary, turn the setscrew with
the hexaganal bit a maximum of 5.5
rotations (corresponds to approx. 10 mm)
out of the cone. Prevent the anti-cold cone
from tuming with the setscrew by holding it
with a cropped ring key SW19.

9. Sealing of movement joint

« Fill the circular movement joint between the
anti-cold cone and the plaster with fischer
sealing and adhesive KD or DKM.

10. Installation of the attachment part

« The fastening torque of the hexagonal nut
(T, must be max. 20 Nm). After tightening
the screw, the attachment part must not be
supported on the base material (plaster).

 With slotted holes, the free slotted hole
parts must be filled completely with mortar.

de forage "Percage par percussion ou au
marteau perforateur”.

Nettoyage de la tige filetée apres le fraisage par
brossage.

Chague cone antifroid ne doit étre fraisé
qu'une seule fois.

* Conseil: En cas d'isolant résistant, il est
recommandé d'utiliser la lame de fraisage
Thermax 9. Pour ce faire, insérer a lame
de fraisage comme indigué sur l'illustration
dans ['une des trois cavités du cne antiroid.
Démonter apres utilisation.

4. Nettoyage du forage
Nettoyer en profondeur le forage selon
I'étiquette de la cartouche ou selon ‘ETA de la
résine de scellement fischer.

5. Pose du tamis d'injection
« Brique pleine / béton / béton cellulaire:
Le tamis d'injection 1 ne doit pas étre utilise.
« Brique creuse:
Pose du tamis d'injection a 'aide du Thermax
complet coupé, jusqu'a ce que le cone anti-froid
soit affleurant & la surface de l'isolant. Ensuite,
sortez le Thermax.

6. Injection

* Remplir sans bulles le forage ou le tamis
d'injection & partir du fond du forage a I'aide
de résine de scellement fischer et retirer le bec
mélangeur du forage petit a petit.

* Pour connaitre les quantités de résine nécessai-
res, voir le tableau « Données de montage ».

 Pour une profondeur totale de forage de
1z 250 mm, le bec mélangeur doit étre utilisé
avec un tuyau de rallonge.

A Respecter les étapes de montage

etle temps de traitement conformément
al'étiquette de la cartouche ou a I'ETA du
systéme d'injection.

7. Introduction du Thermax pendant le
temps de traitement de la résine de
scellement fischer

« Introduction du Thermax complet en
tournant légérement, jusqu’a ce que le bord
extérieur du cone antifroid dépasse d'au
moins 1 mm de la surface de I'isolant.

o Laisser durcir la résine de scellement selon
les temps de durcissement (voir étiquette de
|a cartouche).

8. Ajustement du Thermax

o Les irrégularités du support peuvent étre
compensées en dévissant le cane anti-froid
(AKK)avec un maximum de 2,5 tours (max.
5 mm). Pour cela, le marquage A situé sur
I'avant du cone doit étre respecté. Une clé
polygonale coudée (ouverture 19) doit étre
utilisée pour dévisser le cane.

* Le cas échéant, dévisser e bout fileté
du cone a I'aide de I'embout 6 pans en
effectuant un maximum de 5,5 tours (cela
correspond a env. 10 mm). Effectuer une
fixation a I'aide d'une clé polygonale coudée
(ouverture 19) pour empécher que le cone
ne soit entrainé dans le dévissage.

9. Etanchéité des joints de dilatation

 Remplissage des joints de dilatation
circulaires entre le cone antiroid et l'isolant
a ['aide du fischer mastic colle et étanche
KD ou DKM.

10. Montage de la piéce a fixer

o Apres la pose de |'écrou 6 pans (couple de
serrage T max. 20 Nm), la piece  fixer
ne peut pas s'appuyer sur le support.

« En cas de trous oblongs en direction de
charge transversale (par ex. dans un rail de
guidage de stores), les trous oblongs libres
doivent étre totalement remplis de résine de
scellement.

Beispiel fir Mehrfachbefestigung / Example for multiple fixing / Exemple de
fixation multiple / Esempio di fissaggio multiplo / Przyktad mocowania wielopunk-
towego / Priklad vicenasobného upevnéni / Priklad viacnasobného upevnenia /
Ejemplo de fijacion multiple / Exemplo de fixagdo maltipla

FR

IT

IT

1. Realizzazione del foro di fissaggio

« Peril diametro e la profondita del foro, vedere la
tabella ,Dati di montaggio”.

« Perforare in direzione perpendicolare rispetto alla
superficie di fissaggio.

* Processo di perforazione:

Calcestruzzo / mattone pieno / calcestruzzo
aerato: perforazione con martello perforatore

Mattone semipieno: Perforazione rotante

2. Taglio in lunghezza del Thermax

« L'asta filettata 2 deve essere awvitata completa-
mente nel cono antifreddo 3.

« Rilevare la lunghezza K come da tabella sottostan-

te e tagliare in lunghezza I'asta filettata.

Dicke der zu tberbriickenden Schicht
Thickness of nonbearing layer
Epaisseur de la couche & combler
Spessore dello strato da penetrare

3. Fresatura dell'isolamento termico

o Fresare con il Thermax completo utilizzando
I'inserto esagonale e/o la bussola esagonale
SW 19. L'asta filettata serve da quida durante il
processo di fresatura.

« Profondita di fresatura: il bordo superiore
del cono antifreddo & a filo con la superficie
dell'intonaco.

A Fresare regolando il trapano su ,Perfo-

razione a percussione o martello perforatore”
Pulizia dell'asta filettata dopo la fresatura
mediante spazzolatura.

Ogni cono antifreddo puo essere fresato
internamente una sola volta.

Consiglio: In caso di intonaco resistente, si
suggerisce di utilizzare per la fresatura la fresa
Thermax 9. A tale proposito, inserire la fresa,
come raffigurato, in una delle tre possibili incavi
del cono antifreddo. Smontare dopo I'uso.

4. Pulizia del foro
Pulire accuratamente il foro come da etichetta
sulla confezione o conformemente all'ETA della
resina a iniezione fischer.

5. Posizionamento del tassello di anco-
raggio ad iniezione

 Mattone pieno / calcestruzzo / calcestruzzo ae-
rato: Non & necessario il tassello di ancoraggio
ad iniezione 1.

« Mattone semipieno:
Posizionare il tassello di ancoraggio ad iniezio-
ne con |'aiuto del Thermax completo tagliato in
lunghezza,fino a quando il cono antifreddo non
& a filo con la superficie dell'intonaco. Allora
tira fuori il Thermax.

6. Iniezione

« Riempire il foro e/0 il tassello di ancoraggio
ad iniezione, partendo dal fondo del foro, con
resina a iniezione fischer senza che si formino
bolle e continuare poi ad estrarre leggermente
il miscelatore statico dal foro dopo ogni colpo.

« Persapere la quantita di resina necessaria,
vedere tabella ,Dati di montaggio”.

« Incaso di profondita di perforazione totale
1,z 250 mm, occorre utilizzare il miscelatore
statico insieme al flessibile di prolunga.

A Rispettare le fasi di montaggio e

il tempo di indurimento come da etichetta
sulla confezione o conformemente all'ETA
per il sistema ad iniezione.

7. Inserimento del Thermax durante il
tempo di indurimento della resina a
iniezione fischer

* Inserire il Thermax completo ruotando
leggermente, fino a quando il bordo esterno
del cono antigelo non sporga di almeno
1 mm sulla superficie dellintonaco.

o Lasciare indurire la resina a iniezione
fischer in funzione dei tempo di indurimento
(vedere etichetta sulla confezione).

8. Regolazione del Thermax

« Eventuali irregolarita del fondo possono
essere livellate svitando il cono antifreddo
(AKK) al massimo di 2,5 giri (max. 5 mm).
In questo caso occarre attenersi alla tacca
di rotazione A sul lato anteriore del cono
AKK. Per svitare il cono antigelo, occorre
utilizzare una chiave ad anello piegata
(SW 19).

« Svitare |'asta filettata con I'inserto esag-
onale dal cono AKK, se necessario, di max.
5,5 giri (che corrispondono a circa 10 mm).
Nel fare questo impedire, bloccando con
la chiave ad anello piegata (SW 19), che il
cono antigelo possa ruotare a sua volta.

9. Impermeabilizzazione del giunto di
dilatazione

* Riempire il giunto di dilatazione circolare
tra il cono antifreddo e sigillante e fischer
sigillante e adesivo KD o DKM.

10. Montaggio del raccordo

* Dopo aver stretto il dado esagonale (coppia
diserraggio T max. 20 Nm) non si deve
puntellare il raccordo sul fondo.

* In caso di fori asolati in direzione
trasversale del carico (ad es. in un profilo
di fissaggio di tende) & necessario riempire
completamente le parti libere dei fori
asolati con resina a iniezione.

PL

1. Wiercenie otworu pod kotwe

o Zaznaczy¢ otwory. Srednice i gtebokosci
otworu s3 podane w tabeli ,Dane montazowe".

 Wierci¢ prostopadle do powierzchni zakotwie-
nia.

* Metoda wiercenia:

Beton / pefny blok / gazobeton: wiercenie
udarowe

Pustaki: wiercenie rotacyjne

2. Skracanie Thermax

 Pret nagwintowany 2 musi zostac w catosci
wkrecony w termoizolacyjny stozek 3

o Ustalic diugosc K na podstawie ponizszej tabeli
i skrécic pret nagwintowany do tego wymiaru.

CZ

1. Vyvrtani otvoru

« Vlyznaceni otvordl. Priimér a hloubka vrtaného
otvoru; viz tabulka ,Montazni idaje”.

« Vrtat kolmo na povrch kotevniho otvoru.

* Zpiisob vrtani:
Beton / pIné cihly / probeton: Vrtani s
priklepem
Dérovand cihla: Rotacni vrtani

2. Zakraceni kotevni tyée
* Zavitova ty¢ 2 musi byt Uplné zasroubovana
do plastového kuzele 3.

« Délka K se vypotita podle tabulky nize a na
tuto délku se zkréti kotevni tyc.

SK

1. Vyvitanie kotviaceho otvoru

. Ngkreslenie vitanych otvorov. Priemer otvoru a
hibka otvoru: pozri tabulku ,Montazne Udaje”.

« Vftanie v pravom uhle k povrchu ukotvenia.

* Proces vitania:

Betdn/plné tehly/pdrobeton: Vftanie vitacim
kladivom

Dierovand tehla: Rotacné vitanie

2. Skrétenie Thermax

o Zavitova ty¢ 2 musi byt plne zaskrutkovana
do protichladového kuzel'a 3.

o Ditku K zistite podra tabulky dole a zavitovi
tye skratte.

6=

ES

1. Perforacion del orificio de fijacion

 Marque las perforaciones. Didmetro del orificio
de perforacion y profundidad del taladro ver tabla
datos de instalacion”.

* Taladro perpendicular a la superficie de anclaje.
* Meétodo de perforacion:

Hormigdn / ladrillo macizo / hormigan celular:
Taladrar con martillo

Ladrillo perforado: Perforacion rotatoria

2. Corte de Thermax

* Lavarilla roscada 2 debe estar completamente
introducida en el cono anti-frio 3.

« Determine la longitud K (vea las tablas de abajo) y

luego corte la varilla roscada al tamafio justo.

Grubost warstwy bez wiasciwosci nosnych

Thermax 12 K[mm]=e+70

K[mm]=e+80

K[mm]=e+130

K[mm]=e+100

Thermax 16 K[mm]=e+80

K[mm]=e+80

K [mm]=e+200

K[mm]=e+100

3. Rozwiercanie izolacji termicznej

* Rozwiercic za pomocg catego zespotu Thermax
przy uzyciu bitu B-katnego lub nasadki 6-katnej
SW 19. Pret nagwintowany stuzy jako
prowadnica podczas frezowania.

* Gighokosc frezowania: Gérna krawedz termoizo-
lacyjnego stozka licuje z powierzchnig tynku.

A Nawiercanie za pomoca wiertarki z

ustawieniem ,wiercenie udarowe”.
Po frezowaniu wyczyscic pret nagwintowany za
pomocg szczotki. Kazdy termoizolacyjny stozek
moze byc tylko raz uzyty do frezowania.
 Porada: W przypadku opornego tynku
wskazane jest rozwiercenie przy uzyciu ostrza
frezarskiego Thermax 9. W tym celu nalezy
wetknac ostrze frezarskie w jedna z trzech
mozliwych wnek w termoizolacyjnym stozku.
Po uzyciu wymontowac.

4. Czyszczenie otworu
Dokfadnie wyczyscic otwor zgodnie z etykieta
kartusza lub aprobatg ETA zaprawy iniekcyjnej
fischer.

5. Osadzanie iniel j tulejki siath

« Beton / petny blok / gazobeton:
Iniekeyjna tulejka siatkowa 1 jest zbedna.

* Pustaki:
Osadzi¢ iniekcyjna tulejke siatkowq za pomocg
przedtuzonego cafego zespotu Thermax na
tyle, aby termoizolacyjny stozek licowat z
powierzchnig tynku. Wige wyciagnij Thermax.

6. Iniekcja

 Napetnic otwor lub iniekcyjna tulejke siatkowa
zaprawg iniekcyjng bez pecherzykdw powietrza
od dna otworu, wyciagajac po trochu mieszal-
nik statyczny za kazdym suwem.

« Wymagane ilodci zaprawy sg podane w tabeli
.Dane montazowe”.

* Gdy cafkowita gtebokos¢ oworu t, = 250 mm,
nalezy podtaczy¢ przedtuzacz weza do
mieszalnika statycznego.

A Przestrzegac procedury montazu i

czasu dziatania podanych na etykiecie kartusza
lub w aprobacie ETA systemu iniekcyjnego.

7. Wkiadanie Thermax przed uptywem

3. Vyfrézovani tepelné izolace

« Vlyfrézovat kompletnim Thermaxem za pouziti
Sestihranného bitu pfip. Sestihranného ofechu
SW 19. Zavitova ty¢ slouzi jako vedeni pfi
frézovani.

« Hloubka frézovani: Horni hrana kuzele k
preruseni tepelného mostu licuje s povrchem
omitky.

A Frézuje se vzdy s pfiklepem.

Ocisténi zavitové tyce po frézovani kartacem.
Kuzel 1ze pro frézovani pouzit jen jednou.
 Tip: U odolnych omitek se k vyfrézovani
doporucuje poutiti frézovaci cepele Thermax
9. Frézovac cepel se zasune podle obrazku
do jedné ze tfi drazek v kuzelu k preruseni
tepelného mostu. Po pouiti demontovat.

4. Vyéisténi vyvrtaného otvoru
Viyvrtany otvor se vycisti podle navodu vyrobce
chemické malty. Dérované zdivo nent tieba
gistit.

5. VloZeni sitka do dérovaného zdiva

* PIné cihly / beton / porobeton:
Sitko do dérované cihly 1 se nepouziva.

* Dérované cihly:
Kotevni sitko vloZit s pomoci zakraceného
kompletniho Thermaxu, az bude kuzel licovat s
povrchem omitky. Pak vytéhnéte Thermax.

6. Injektaz

« Vyvrtany otvor pfip. kotevni sitko se ode dna
a bez bublin vypini chemickou maltou. Po
kazdém stisku pistu se smésovat povytdhne z
otvoru.

« Potfebné mnozstvi malty viz tabulka ,Montazni
lidaje".

* Pfi celkové hlouboe otvoru t, > 250 mm
se na staticky smeésovac nasadi pfilozend
prodluzovaci hadicka.

A Dodrzujte kroky montaze a dobu

zpracovatelnosti podle etikety na kartusi pfip.
schvéleni ETA injektazniho systému.

1. Zavedeni Thermaxu béhem doby

czasu dziatania zaprawy i yinej

* Whozyc caty zespét Thermas, delikatnie nim
krecac: krawgd? zewngtrzna termoizolacyj-
nego stozka musi wystawac co najmniej
1'mm nad powierzchnig tynku.

« (Odczekac wskazany czas utwardzania (patrz
etykieta kartusza) na stezenie zaprawy
iniekeyjnej.

8. Regulowanie Thermax

« Nierdwnosci podtoza mozna
zrekompensowact, wykrecajac termoizolacyj-
ny stozek o maksymalnie 2,5 obrotu (maks.
5 mm). Ten limit jest zaznaczony symbolem
obrotu A na stronie czotowej termoizolacyj-
nego stozka. W celu wykrecenia termoizola-
cyjnego stozka nalezy sie postuzyc katowym
kluczem oczkowym (SW 19).

Wykreci¢ trzpien nagwintowany za pomoca
bitu 6-katnego maksymalnie 5,5 obrotu
(odpowiada okoto 10 mm) ze stozka termoi-
zolacyjnego. Rownoczesnie przytrzymywac
termoizolacyjny stozek katowym kluczem
oczkowym (SW 19), aby nie byt wykrecany
razem z nim.

9. Uszczelnianie szczeliny dylatacyjnej

* Zalac okrezna szczeling dylatacyjna migdzy
termoizolacyjnym stozkiem a tynkiem
klejem i uszczelniaczem KD lub DKM fischer.

10. Montaz elementu mocowanego

 Po dokreceniu nakretki szesciokatnej
(moment dokrecania T, maks. 20 Nm)
element mocowany nie moze opiera sie na
podtozu.

* W przypadku otworéw fasolkowych w
kierunku obciazenia poprzecznego (np. w
profilu mocujacym do markiz) niewykorzy-
stane czesci otwordw fasolkowych musza
by¢ catkowicie zalane zaprawa iniekcyjna.

zpr i injektazni malty

* Osadte kotevni ty¢ Thermax lehkym
pootacenim: Vnéjsi hrana kuZzele k preruseni
tepelného mostu musi presahovat nejméné
1 mm nad povrch omitky.

o Injektazni maltu nechejte vytvrdnout po
dobu, kterd je uvedend na kartusi a jejiz
délka zavisi na teploté vzduchu.

8. Sefizeni Thermaxu

« Nerovnosti podkladu je mozné vyrovnat
vysroubovanim kuzele (AKK) o maximalné
2,5 otacky (max. 5 mm). K tomu je mozné
pouzit znacku A na celni strané AKK. Pro
vysroubovani AKK se pouziva vyhnuty
ockovy klic (SW 19).

« \/ pfipadé potieby vySroubujte zavitovy
kolik $estihrannym bitem max. 0 5,5
otdcky (odpovida cca. 10 mm) z kuzele
AKK. Otaceni kuzele zabranite zajisténim
vyhnutym ockovym klicem 19 mm.

9. Utésnéni dilatacni spary

* Vlypliite kruhovou sparu mezi plastovym
kuzelem a omitkou lepicim a tésnicim
tmelem fischer KD.

10. Montaz upeviiovaného pfedmétu

 Po dotazeni $estihranné matice (utahovaci
moment T max. 20 Nm| se upeviiovany
pfedmét nesmi opirat o povrch fasady.

* U ovélnych otvorti ve sméru pficného
zatizeni (napf. v upeviovacim profilu
markyz) se musi volné ¢asti ovalného otvoru
kompletné vyplnit injektézni maltou.

3. Nafrézovanie tepelnej izolacie

Tloustka
Hribka premostovanej vrstvy
Espesor la capa aislante.
Espessura da camada a transpor

* Nafrézovanie s kompletnym systémom Thermax

s pouZitim 6-hranného bitu, resp. 6-hranného

orecha, velkost klica 19. Zavitova ty¢ slizi ako

vedenie pri frézovani.
o Hibka frézovania: Horna hrana protichladového
kuzela je v jednej rovine s povrchom omietky.

A Nafrézovanie s nastavenim vitacky

Jvitanie s priklepom alebo Standardne”.
Vytistenie zavitovej tyce okefovanim po
frézovani. Kazdy protichladovy kuzel' sa moze
vyfrézovat len raz.

« Tip: V pripade odolnej omietky odportcame na
nafrézovanie pouzit frézovaciu cepel Thermax
9. Za tymto Ucelom zasurite frézovaciu cepel
do jednej z troch moznych priehlbin protichlado-
vého kuzela tak, ako je to na obrazku. Po
pouZiti ju demontuijte.

'S

. Cistenie vyvitaného otvoru
Vyvitany otvor dokladne vycistite podla etikety
resp. ETA na kartusi injektdznej malty fischer.

5. Osadenie injektazneho kotviacel

sitka

Plnd tehla/betén/pérobetdn:

Injektazne kotviace sitko 1 nie je potrebné
pouzit.

Dierovand tehla:

Osadenie injektdzneho kotviaceho sitka
pomocou skrateného kompletného systému
Thermax, kym nie je protichladovy kuzel v
jednej rovine s povrchom omietky. Potom
vytiahnite Thermax.

6. Injektaz

« Vyvitany otvor, resp. injektazne kotviace sitko
vypliite injektdznou maltou od dna otvoru bez
bublin a pritom vytahujte staticky zmiesavat
po kazdom zdvihu o kisok d'alej z vyvitaného
otvoru.

* Potrebné mnozstvo malty pozri tabulku
montazne Gdaje”.

« Pri celkovej hibke otvoru 1,2 250 mm treba
pouzit staticky zmiesavac s predlzovacou
hadickou.

A Dodrzte montazne kroky a dobu

spracovatelnosti podla etikety na kartusi
injektazneho systému, resp. podra ETA.

7. Zavedenie systému Thermax v ramci
doby spracovatel'nosti injektaznej
malty

* [ahko otdcavé zavedenie kompletného
systému Thermax: VonkajSia hrana protich-
ladového kuzel'a musi vycnievat najmenej
1 mm nad povrchom omietky.

* Injektaznu maltu nechajte vytvrdn(t v
zavislosti od doby tvrdnutia (pozri etiketu na
kartusi).

8. Nastavenie systému Thermax

« Nerovnosti podkladu je mozné vyrovnat
vyskrutkovanim protichladového kuzela
(AKK) s maximalne 2,5 otackami (max.

5 mm). Dodrte pritom znacku pre otacanie
A na celnej strane protichladového kuzela
(AKK). Na vyskrutkovanie protichladového
kuzel'a (AKK) pouzite lomeny prstencovy
k¢ (velkost kiica 19).

o Vlyskrutkujte prip. zavitovy kolik pomocou
6-hranného bitu max. 5,5 otacok (zodpove-
da cca 10 mm) z protichladového kuzela
(AKK). Zafixovanim pomacou lomeného
prstencavého klica (velkost kltca 19)
pritom zabrante tomu, aby sa otacal aj
protichladovy kuzel (AKK).

9. Utesnenie dilataénej Skary

* Vlyplnenie okruhlej dilatacnej Skary
medzi protichladovym kuzelom a omietkou
pomocou lepiacej a tesniacej hmoty fischer
KD alebo DKM.

10. Montaz upeviiovaného dielu

* Po utiahnuti $esthrannej matice (utahovaci
moment T max. 20 Nm| sa upeviiovany
diel nesmie opierat o podklad.

o Pri pozdlinych otvoroch v smere priecneho
zatazenia (napr. v upeviovacom profile
markizy) musia byt vofné pozdfine otvory
(ipine vypInené injektaznou maltou.

PL

d, = Drill hole diameter d, = diametre nominal du foret d, = Diametro foro d,

L = drill hole depth e+, (+ 10 mm for L = profondeur du forage (e + h, (+ 10 mm ! = profondita foro e + h, {+ 10 mm per mattone 1
perforated brick)) pour la brigue creuse)) semipieno))

| = Length of Thermax incl. anti-cold-conus | = longueur du Thermax incl. cone anti-froid | = Lunghezza del Thermax incl. cono antifreddo |

h, = Effektive anchorage depth h, = profondeur d'ancrage effective h, = Profondita di ancoraggio efficace

e = Thickness of non-bearing layer e = épaisseur de a couche a combler e = Spessore dello strato da penetrare (isola h,
(insulation + fabric + plaster) (isolation, tissu, enduit, colle) mento, tessuto, intonaco, colla) e

i, = Thickness plaster and/or adhesive i, = épaisseur de I'ancien enduit et / ou colle Ty = Profondita dell'intonaco vecchio e /

Luons = Insulation thickness (System) Luovs = épaisseur d'isolation systeme) o della colla 1,

U = Overlap (> 1 mm) U = dépassement (> 1 mm) Luous = Profondita di isolamento (sistema) Luous

1, = Fixture thickness L, = épaisseur de la piece a fixer U = Sporgenza (> 1 mm) U

T = Installation torque Tt = couple de serrage du montage . = Spessore fissabile 1

= Coppia di serraggio T

= nominalna $rednica wiertta

= gfebokosc owvoru (e +h, (+10 mmw
przypadku pustakow))

= dtugosc Thermax z termoizolacyjnym
stozkiem

= efektywna gtebokos$¢ zakotwienia

= grubosc warstwy bez whasciwosci
nosnych (izolacja, tkanina, tynk, klej)

= grubosc starego tynku i/lub kleju

= grubosc izolacji (system)

=wystep (>1 mm)

= grubosc elementu mocowanego

= moment dokrecania

ES

d = jmenovity primér vrtaku d = mpnovitV priemer vrtaka d,
L = hloubka vrtaného atvoru e + h, (+ 10 mm L = hibka vitaného otvoru (e + h, (+ 10 mm i
pro dérované cihly)) pre dierovan( tehlu))
| = délka Thermaxu vc. kuzele k preruseni tepelné | = ditka systému Thermax vrat. protichladové |
ho mostu ho kuzela ) h,
h, = efektivni hloubka kotveni h, = efektivna hibka ukotvenia e
e = tloustka propojované vrstvy (izolace, textilie, e = hriibka premostovanej vrstvy (izoldcia, tka
omitka, lepidla) nina, omietka, lepidlo) 1y
Ly = tloustka staré omitky a/nebo lepidla L, = hriibka starej omietky a/alebo lepidla Taos
Uy = tloustka izolace (systému) Uy = hribka izoldcie (systém) U
U = piesah (> 1 mm) ] = presah (> 1 mm) .
L, = tloustka upeviiovaného predmétu L, = hriibka upeviiovaného dielu .
T = montazni utahovaci moment T = montazny krdtiaci moment

inst

B rstvy

3. Fresado del aislamiento.

« Con el Thermax completo usar la punta
hexagonal o la tuerca hexagonal SW 19
para esto. La varilla roscada sirve de guia.
durante el proceso de molienda.

* Profundidad de fresado: el borde exterior del
cono esté al ras con la superficie de yeso.

A Utilice el ajuste "percusion o

martillo”para fresado.

Limpiar la varilla roscada después del fresado
cepillando.

Cada cono antifrio solo se puede utilizar para
fresar una vez.

« Consejo: con un aislante resistente (por ejem-
plo, cemento grueso, fachada de yeso o tipo
cortina), recomendamos utilizar la cuchilla de
corte Thermax 9. Coloque la cuchilla de corte,
como se muestra, en uno de los tres huecos del
cono antirio y desmantele-lo después de su
uso.

»

. Limpieza de taladrado.
Limpie a fondo el orificio de acuerdo con la
etiqueta de los cartuchos o la ETA del anclaje
quimico fischer.

. Ajuste del tamiz

Ladrillo macizo / hormigon / hormigon celular:
No es necesario el tamiz 1.

Ladrillo perforado:

Coloque el tamiz con la ayuda del Thermax
cortado en el agujero taladrado, hasta que el
cono anti-frio esté a ras con la superficie de
yeso. A continuacidn, extraiga el Thermax.

6. Inyeccion

« Rellene el orificio perforado o el tamiz con el
anclaje quimico sin burbujas y retire la canula
un poco mas lejos con cada golpe.

 Para la cantidad requerida de anclaje quimico,
ver tabla “Datos de instalacion”.

 Con una profundidad total de perforacion
1,2 250 mm, la canula se debe usar con una
extension.

A Observe los pasos y el procesamiento.

tiempo segln la etiqueta del cartucho o el ETA
del anclaje quimico fischer.

7.Insercion del Thermax dentro del
tiempo de trabajabilidad del anclaje
quimico.

« Inserte el Thermax, girando suavemente
hasta que sobresalga el borde exterior
del cono anti-frio al menos 1 mm de la
superficie del yeso.

 Deje que el anclaje quimico se endurezca de
acuerdo con los tiempos de endurecimiento
(ver etiqueta del cartucho).

8. Ajuste de Thermax

« Es posible compensar las iregulares de
las superficies de la pared sacando el cono
anti-frio con un méximo de 2.5 rotaciones
(méx. 5 mm). Para ello, la marca de rotacion
A en la parte frontal del cono antifrio
necesita ser controlada. Utilice una llave
SW 19 para atornillar el cono.

 Cuando sea necesario, gire el tornillo de
fijacion con la punta hexagonal un maximo
de 5,5 rotaciones (corresponde a aprox.
10 mm) fuera del cono. Prevenir el cono
anti-frio de girar con el tornillo de fijacion
sujetandolo con una llave SW19.

9. Sellado de juntas de dilatacion.

* Rellene la junta de movimiento circular
entre el cono antifrio y el yeso con KD o
DKM.

10. Instalacion de la pieza de fijacion.

« El par de apriete de la terca hexagonal (T,
debe tener un méximo de 20 Nm). Después
apriete el tornillo a la parte de fijacion que
no debe apoyarse en la superficie exterior
de la fachada.

« Con orificios ranurados y el orificio ranurado
libre las piezas deben rellenarse completa-
mente con anclaje quimico.

= diametro del ndcleo de perforacion

= Profundidad de taladrado (e + h (+ 10 mm
para ladrillo perforado))

= Longitud del Thermax incl. Cono antifrio

= profundidad efectiva de anclaje

= Espesor de la capa a unir

(

tela, yeso,

= Yeso grueso viejo y/o adhesivo

= Espesor del aislamiento (sistema)
= Proyeccion (> 1 mm)

= Espesor del accesorio

= par de montaje

PT

1. Perfuracdo do furo de ancoragem

* Marcacdo dos furos. Didmetro e profundidade do
furo: ver tabela “Dados de montagem”.

« Furos em angulo reto relativamente a superficie
de ancoragem.

 Procedimento de perfuracéo:
Betdo / tijolos macigos / betdo celular: Perfurago
por martelo
Tijolo furado: Perfuracdo rotativa

2. Corte em comprimento da Thermax

* Ahaste roscada 2 deve ser completamente
inserida no cone a prova de passagem de frio 3

 Determinar o comprimento K de acordo com
a tabela seguinte e cortar a haste roscada em
comprimento.

3. Fresagem do isolamento térmico

« Fresagem com a Thermax completa mediante
utilizac@o da broca sextavada ou do soquete
sextavado SW 19. A haste roscada serve como
guia no processo de fresagem.

« Profundidade de fresagem: A aresta superior do
cone 3 prova de passagem de frio fica nivelada
com a superficie do reboco.

A A fresagem com ajuste do berbequim

“perfuracdo com percussao ou por martelo”.
Limpeza da haste roscada apds a fresagem por
escovagem.

Cada cone @ prova de passagem de frio apenas
pode ser fresado uma vez.

* Dica: No caso de um reboco resistente,
recomenda-se a utilizagdo da lamina de fresar
Thermax 9 para a fresagem. Para isso, inserir a
lamina de fresar, conforme ilustrado, numa das
trés depressdes possiveis do cone a prova de
passagem de frio. Desmontar apds a utilizagéo.

4. Limpeza do furo
Limpar a fundo o furo de acordo com a etiqueta
do cartucho ou da ETA da argamassa de
injegdo fischer.

5. Colocacéo da bucha de ancoragem de
injecdo

Tijolos macicos/betdo/betdo celular:
Abucha de ancoragem de injecdo 1 deixa de
Ser necesséria.

Tijolo furado:

Colocacdo da bucha de ancoragem de injecéo

com a ajuda da Thermax completa cortada em
comprimento, até o cone & prova de passagem
de frio ficar nivelado com a superficie do boco.
Entéo tira a Thermax.

Injecao

Encher o furo ou a bucha de ancoragem de
injecdo desde a base do furo sem bolhas com
argamassa de injecdo e remover o misturador
estdtico mais um passo do furo apds cada
curso.

Para obter a quantidade de argamassa neces-
sdria, consulte a tabela “Dados de montagem".

No caso de a profundidade total do furo
1, 250 mm, o misturador estético tem de ser
utilizado com tubo de extensdo.

A Ter em consideragao os passos de

e 0 tempo de p de
acordo com a etiqueta do cartucho ou a ETA do
sistema de injecdo.

7. Introducéo da Thermax dentro
do tempo de processamento da
argamassa de injecdo.

* Introdugdo ligeiramente rotativa da Thermax
completa: A aresta exterior do cone a prova
de passagem de frio tem de ficar saliente no
minimo 1 mm sobre a superficie do reboco.

* Deixar a argamassa de injecdo endurecer de
acordo com os tempos de endurecimento
(ver a etigueta do cartucho).

8. Ajuste da Thermax

* As irregularidades do substrato podem
ser compensadas ao desenroscar o cone a
prova de passagem de frio (AKK) com no
méximo 2,5 voltas (max. 5 mm). Para isso,
6 necessario atentar a marcagdo de rotacao
A nolado frontal do AKK. Para desenroscar
0 AKK é necessério utilizar uma chave
anular acotovelada (SW 19).

Desenroscar o pino roscado com a broca
sextavada, se necessario, no méx. com
5,5 voltas (corresponde a aprox. 10 mm)
do AKK. Evitar que o AKK rode também
ao fixar com a ajuda de uma chave anular
acotovelada (SW 19).

9.Vedacdo da junta de
Enchimento da junta de expansao circular
entre 0 cone a prova de passagem de frio e
o reboco com colagem e vedagdo adesiva
KD ou DKM fischer.

10. Montagem do componente

 Apds o aperto da porca sextavada (binario
de aperto T, méx. 20 Nm), o componente
n@o pode ficar apoiado sobre o substrato.

* No caso de furos oblongos na direcdo de
carga transversal (por ex. num perfil de
fixacdo de marquises) as partes dos furos
oblongos livres tém de ser completamente
cheias com argamassa de injecdo.

PT

= didmetro nominal da broca

= profundidade do furo (e + h_ (+ 10 mm
para tijolos furados))

= comprimento da Thermax incl. cone a
prova de passagem de frio

= profundidade de ancoragem efetiva

= espessura da camada a transpor (isola
mento, tecido, reboco, adesivo)

= espessura do reboco antigo e/ou do
adesivo

= espessura de isolamento (sistema)

= projegdo (> 1 mm)

= espessura do componente

= binrio de montagem




